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ECONOMICS (In all Mediums)
Paper-Economics of Development

Time Allowed : Three Hours] [Maximum Marks : 90
Note :— Attempt FIVE questions in all, selecting at least ONE question

each from Sections A, B, C and D. Question No. 1 is
compulsory.

1. Attempt any NINE of the following :
(i) Differentiate between economic growth and development,
(ii) What is Capital formation ?
(iii) Explain concept of disguised unemployment.
(iv) Define Dualism.
(v) Give assumption of Solow's Model.
(vi) What is Balanced Growth ?
(vii) What are income depressing forces ?
(viii)Explain age of High Mass Consumption.
(ix) What is import substitution ?
(x) What is labour intensive technique ?
(xi) What is Totalitarian Planning ?
(xii) What is a development strategy ? 9*2=18

SECTION—A
2. Explain various features of underdeveloped economy. 18
3. Critically examine Nurkse's Theory. . 18

SECTION—B
4. Explain Harrod-Domar Model of Growth. 18
5. Critically examine Boeke's Theory of Social Dualism. 18
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SECTION— C
Critically explain the theory of Big Push.

Explain Critical Minimum Effort Thesis.

SECTION— D

18
18

What is Price Mechanism ? How is it operative under economic

planning ? 9,9

What is export promotion ? Give its advantages and disadvantages.
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